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1.1 beginQ

vyt ORPNIER,
begin(aspect=None, box=False, xticks=[], yticks=[])

aspect FTARXYZ b (F7 4L b None DF&IZT A7 FEZREL 2\0»)
box 57 # )Lk False T, HiliZziid7
xticks T4 Ie—0DMBELE TV (F7 5Lk [] TR
yticks [ E
1.2 end(Q
70yt ORBICES,
end()
1.3 text(O
Xrhlzi<

text(x, y, label, **arg)
text2(x_y_1l, **arg)
X,y BETE)IGAEICIT text2 DADPREL R T,

X,y SCEHN R AE (X7 MV EIEAD T )
label SCFF (X7 RV EFIZHE—STFF)
xy.l X, Y, label D 3 EFEZFFOV AL (DY R })
arg DT CHERc& 28—y — F

import matplotlib.pyplot
help(matplotlib.text.Text)

import numpy as np



import os

import sys

sys.path.append("statlib™)

from plot import begin, end, text, text2

begin(aspect=1)
text(l, 0.5, "test", fontsize=60)

horizontalalignment="center")

teXt([®!1121 ®1112! 011!2]’ [®1®!®1 1’111! 2’21211

text2([[0.1, 0.5, "abcdefg"], [0.5, 0.6, "text2"]], co
text2([0.2, 0.4, "one element"], color="brown")

arg = dict(fontsize=20, color="red", verticalalignment="center",

["bottom-left", "bottom", "bottom-right", "left", "center",
"right", "top-left", "top", "top-right"], **arg)

lor="blue")

end ()
top-left top top-right
left center right

abcdefg t t

one element

bottom-left bottom

1.4 segment()

ERZH <,
segment (x1, yl, x2, y2, color="black", linewidth=0.5, linestyle =

bottom-right

non

, s':*arg)




x1, yl EROIEEAE (N7 MV ERIZAD T —)
x2, y2 EAROMITHAE (X7 MV ERIZRAAD T —)
color EROM (77 40 MixHE)

linewidth EAEOWE (77 4V i 0.5)

linestyle EMOFH (77 4V M IFER)

arg DT CHEFRCcE 2 fFERI X — v — |

import matplotlib.pyplot
help(matplotlib.pyplot.Line2D)

from plot import begin, end, segment

begin(aspect=1)

segment (0, 3, 3, 0, color="blue")

segment ([0,0,0]1, [0,0,0], [1, 2, 31, [3, 2, 11D

segment (0.7, [1,2,3], 2.9, [0.5, 1.5, 2.5], color="red",
linewidth=1.5, linestyle=":")

end ()




1.5 1lineQ)
Pz < .

line(x, y, color="black", linewidth=0.5, linestyle="-", **arg)
X, y JEREE (X7 P VERIZAS T—)
color VAR 2 B % SERR O (577 4V b IFER)
linewidth ERDUE (77 4V F i 0.5)
linestyle EROME (F7 4V M3FER)
arg DMcER TS aiEMNY—7—F

import matplotlib.pyplot
help(matplotlib.pyplot.Line2D)



from plot import begin, end, line

begin()

arg = dict(alpha=0.2)

line([®, 6*np.pi], [0, 0], color="red", linewidth=1, **arg)
X = np.linspace(®, 6*np.pi, 1000)

line(x, np.sin(x))

line(x, np.cos(x), color="blue", linestyle="-.")
end ()
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1.6 point()

v —Ah—%Hi<,

point(x, y, color="black", marker="o", size=1, **arg)
X, V JERE (R27 FILVERIZAHD T —)
color JERE AR v —h =Dt (77 4V MEHE)
marker v —A—0fH (7741 +120O)
size v—A—D¥ (F7 4N ME 1)
arg DM CHMEcE 2 HFEMN X —7—F

import matplotlib.pyplot
help(matplotlib.pyplot.Line2D)




from plot import begin, end, point

begin()

arg = dict(alpha=0.2)

X = np.linspace(®, 6*np.pi, 500)
point(x, np.sin(x), **arg)
point(x, np.cos(x), color="blue")
point (0, 0, size=3)

end ()

1.7 box(Q

R zHi<,

box(x1, y1, x2, y2, color="black", fill=False, linewidth=0.5, alpha = 1, hatch="", **arg)
x1, yl1 RGO TROBERE (X7 bV ERIEAD T —)
x2, y2 EHEOL EBOEE (R PV ERIEAD T —)
color BBz ot (77 1V MZE)
fill RITWE®ED D59 7% 6 True ZHET 5 (77 4L+ 3 False)
linewidth BTz IR (77 40 Fi%0.5)
linestyle BBz < Mo (77 4L b 39FER)
hatch RGO Ny F 27 (F7 4N FEany F v 7kL)
alpha TN77F 23 (F74L101F1)
arg DM CHERTE S HERM X -7 —F



import matplotlib.pyplot
help(matplotlib.pyplot.Line2D)

from plot import begin, end, box

begin ()
box(®, ®, [2,3,4,5], [1,3,5,7])

box(1, 1.5, 3.5, 2.5, color="red", fill=True, hatch="/", alpha=0.6)
end ()

1.8 circle()

Mz,
circle(ox, oy, r, begin=0, end=360, color="black", linewidth=0.5, linestyle="-")
0X, Oy MOHLIEE (X7 FIVERIZAD T—)
r P (X7 PVELIBANT—)
fill BWOORLMZHI &3 True 1295 (57 41 M & False
begin MEo KPS DME, 77 4L HiE0)
end MiEiho OKER» 5 DOME, 77 41 Hid0)
color Mz o, BHOSLHOLAIEZOE (77 4V FEHR)
linewidth Mz BROIE (77 40 113 0.5) B OELHoS& RIS
linestyle Mz RO (77 4V MEER) B OSLHOGAIEIEEHI NS



1.8.1

arg DIPCifATE 2 fFERM X —7 — F
import matplotlib.pyplot
help(matplotlib.pyplot.Line2D)

N—IAA R

import numpy as np
from plot import begin, end, circle

begin(aspect=1)

t = np.arange(®, 360, 5)

1 = 100

ox = l*np.cos(np.radians(t))
oy = 1*np.sin(np.radians(t))

circle(ox+320, oy+250, np.sqrt((ox-ox[0])**2+(oy-oy[0])**2),

color="blue")
end )




1.82 X7A4MK

import numpy as np
from plot import begin, end, circle

begin(aspect=1)

t = np.arange(®, 360, 3)

1 =130

0ox = l*np.cos(np.radians(t))




oy = l*np.sin(np.radians(t))
circle(ox+250, oy+250, abs(ox), color="blue")
end )
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1.83 ZEDDOJRUMAE

from plot import begin, end, circle

np.random.seed (123)

X = np.random.rand (20)

y = np.random.rand(20)

r = np.random.rand(20)*10

begin(aspect=1)

circle(x, y, r, fill=True, color="blue", alpha=0.3)
circle(0.5, 0.5, 6, fill=True, color="red", alpha=0.2)
end
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1.9 ellipse()

HHZH<,
ellipse(ox, oy, ra, rb, phi=0, begin=0, end=360, color="black",
linewidth=0.5, linestyle="-")

0X, Oy BHOFLEE (X7 v VERIIZAHT—)
ra, rb ERLER RZFMLVERIEAAT—)

phi R EATHROME (77 4L i 0)

begin HiEho KER»rs0fE, 741 0130)
end HEZH Mot (577 40 MEE)
linewidth Tz 5 < BolE (77 4V Fid 0.5)
linestyle Tz 4 BROFEL (77 4 v M IZSERL)

arg DT CHERTESHER X -7 —F

import matplotlib.pyplot
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help(matplotlib.pyplot.Line2D)

from plot import begin, end, ellipse

begin(aspect=1)

l = np.linspace(0®, 100, 10)

ellipse (250, 250, 1, 1/2, color="blue")
ellipse (250, 250, 1, 1/2, phi=45, color="red")
end ()

1.10 polygon()

E% gz i<,
polygon(x, vy, 1, k, color="black", linewidth=0.5, linestyle="-", **arg)
X, Y E4ABOR SO (R7 bVERIZAD T —)
1 ELABOUDOES (R7 FIVELIEAA T —)
k 1IE k AT DYEE
color EZ Mz HGot (F7 10 F3HE)
linewidth IEZ iz ol (77 40 Fi30.5)
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linestyle EZAEEH CBoEE (577 4L M IEFER)
arg DM CHERTE S HERN X -7 —F
import matplotlib.pyplot
help(matplotlib.pyplot.Line2D)

from plot import begin, end, polygon

begin(aspect=1)
polygon(®, ®, 1, np.arange(3, 30), color="blue")
end ()
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1.11 polygon2()

FICT 2 IEZ B2 <,

polygon2(ox, oy, r, k, phi=90, color="black", linewidth=0.5, linestyle="-", **arg)
0X, Oy FOFLEEE (X7 MVERIZRAD T —)
r MR (R7 MVERIZRAST—)
k 1E k fIE DR E
phi TFEMOOMIESRE (77 4V ki 90)
color L AEEECBROT (F7 4L FI3E)
linewidth L% Iz oW (77 4V Fid0.5)
linestyle IEZ T2 i COBEL (77 4L M IFERR)
arg DT CHEFRCE 2 fFERI X — v —

import matplotlib.pyplot
help(matplotlib.pyplot.Line2D)

begin(aspect=1)
from plot import begin, end, polygon2

polygon2(0®, 0, 1, np.arange(3, 10), color="blue")
circle(®, O, 1, color="red")
end ()
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1.12 gridQ

s (FU v F) 2,

grid(x1l, yl1, x2, y2, wx, wy=None, color="black", linewidth=0.5, linestyle="-", **arg)
x1, yl WA DI THOMERE (R4 T —)
X2, y2 Tt LMo (247 —)
WX HE5 B DA%~ Db
wy A DO -0 (None 725 1F wx LFHL)
color BT ot (77 10 MER)
linewidth %724 CRROWE (77 41 Fix 0.5)
linestyle T2 BoEE (577 4L M I3ER)
arg DT CHERTE 2RFENS—7—F
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import matplotlib.pyplot
help(matplotlib.pyplot.Line2D)

from plot import begin, end, grid

begin(aspect=1)
grid(®, ®, 5, 3, 0.25, color="green")
end )
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